XD TORFE 1EFEFER
B BAT

20247 H 22 H

i 2 2 52 2
10,117 T ), 5 (@, 9)) — T55h(e.9), o f (@)
(D 0y ¥ 0r DNETEDH)

2 1 4 2 1 4
. p.18, 1.6: Bl 1.14 DITH| TA= |4 3 10| — [TA= {4 3 10|
2 3 8 2 4 9

. p.32, EH 1.37; 12 BHEIE g(z,y) LT, — MESLR2E
BEAEL g(x,y) IR LT,

Co(y) DFAET 5.0 — B LRBR ¢(y) DFET 5. |

- p.32, B 1.39; Tn ZHBIR g (1 =1,...,m) KHLT,) — I1E
LR n BREK g (i=1,...,m) ITXHLT,J

B 01 (y), . O (y) DTAET 5.0 — TEODRBEE 01(y), - .., dm(y)
DEET 5.

. p.38, il 51;
Tf(u) - (v —u) EXZ IV fu) & (v—u) ODNEZRT.) —
Vi) -(v—u) FXZ ML Vf(u) & (v—u) DNEZRT .

. p40,19:
92 f 02 f 02 f
0x10T1 (U) 0x10x2 (U) Tt Ox10xn (U)
82f .. .
0x2011 (U)
0?2 ' 0?2
8xn3fx1 (U) T 81:"8fzn (U)



foray (W) faya (W) oo faya, (1)
s (1) - :

. p40,1-2; TE7, hid 1 BEEKZRDT,) —» TEk, hid 1 2%
BT, EH 25 &b,

. p.70,16; Ty =0 B 2MWmE) — Ty =518 2MWmid]

. p.74, B 4.10 DfET;
FERH] % F TS 2 DT, |
— TEEBHE, #FD n EOHEITERM 4.11 TT5. ZZTREEA
TR % - W CRERE S % DT, |
- p-82,1-5; d DR—FELDRY PO —KAIA, TF2 (0) ) — [529(v) )

P83, L1 RZ S ADBRBEDEADD, Tam_11 — Tap_m]

. p.90,1.9; TRPE/NMECR S, @44 XD, — TRFTERNEC
5. TR 418 &b,

. p.94. ¥ 4.28; MH D TVgs(a,b,c)) — [Vh(a,b,c))

o p.104, 1.13; TFEHE o420 =2 BICMET 21 — [HFEH 2 + 23 =2
FIThiET 5

T 0 T 0
i) 0 i) 0
R ] I B g S e
Ty 2 Ty 2
T5 ) T5 5)
Te 7 Te 6

. p113, 1-1; T(Al) offll¥yT) — [(A2) OFIIFIT

. p.120, L5; Ttex* (P OfF/ME) = thy* (D OERKE) |
— Tteg* ((P) OFIMHE) = by ( (D) DHRKIHE) J



20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

p.120, 1.8; ez (P) @ HHVEIEE) > by (D © HRYEEEUE) 1 —
ex ((P) © HHIBIEME) > ‘oy (D) @ HBEIEUE)

p.120, L13; Trigi + - +1ragnd = Trigi 4+ rogal
p.122,1.-6; Txy, 20 > 01 — Typ,y0 >0

p.123, 15: £ 51 KEXATWS ] — [ 5.6 DRIEXINT
W3 |

p.123,110; Tz, 20 >0 — Ty, yo > 0]

1.12; TgfBOER | — TRAGER

5.6; H T(D), (D)1 — T(D), (D)) (74> 1)
p.124, 1-6,-7; (F1),(F2) — (F1),(F2) (74> })
p.126, X 5.9; D FERDSCEICE IR 720 K 5 IZHE.

p.127,1.8; Ttex* (P OF/IMHE) = tby* ( D OFRKMHE) |
— Tex* ((P) OFIMHE) = "by* ( (D) DHKIHE) J

1 1
p.128, 1.7 Tyg=~-rl — Tyy= ;pJ
T

3 3
p.129, 1.4; rmg—y+§y+1j — r:vg—y+§z+lj (y % 212
BEX#Z3)

3 3 >
1_7; |'_y_|_§y_|_1J - |—_y—|-§z—|—1j (y%fz &:lﬁ%ﬁKé)

>

3 3
1.10; r—y+§y+1j — r—y+§z+1j (y % 2 ICEZZ 5)

17 2 17 3 17 2 17 3

N — _ — — [ —-q > — — —

p.130, 1.10; st 7 Ttz s
REZITfa—LE2AND)

1-7; (FM3) &% 5o, — [(FMs) 1&fR%EH-D. ]
1-2; TheR*) — The R™y

p.132, KELATHIOERT, [0 x n 751 — 10 x m 1751



38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

20.

p.135,1.2; Tt Ay)zg = 0) — T(tAy)ze = 01 CRFZEEDFAN)
p.136, 1.-8; Tyb <01 — by < 0]
1-2; MEH 5120 — T 5.12)

p.157,1.12; T2 2T, B v, (z) ZX 6.11 D X 5 &L T3 &,
— T2z, B v(r) K612 DX 5 B2, (MO
HEDIED)

p.159, FERIE 10(4) HIF Ty(0) = -1 — Ty(0) = 0J

p.162, 1.15; TEA%K (x) B3

iz L, ]
— TR y(z) B3
/=L, ]

p.165, 1-8; TZ D@ S Loiim e FkkIc) — TZoMED EH
6.21 ¥ [F Uk

p.166,1.7; T2 ZT,) — Tz ZTR (7.8) i,

1.9;: MZH2 L VWOHBRICEELTEIZS.) — WS BRTH
H5ZEICHERELTBIY.

p.195, FEME 1.(1), (2): "IV f(z.9)l] = TV f(z,9)l

p.196, #REMHE 3 (2): KD f(z,y) DRFTERAED 10 £72 5TV
D0, IELLIE 2.

p.197, #E - 3 (4): ROFE DY (£1/V5,F2/V5) o TW»
D05, IEL X (£1/V5,+£2/v/5).

2
p.197, 18 Vg(z,y) = [ ¢
y

4
1= IVg(z,y) = [ x]J.
2y



ol. -

52.

53.

54.

25.

56.

57.

28.

59.

60.

61.

62.

2 =2)\z 2 =4)\x
1-5; =

-3 =Ny -3 =2\y
1 3 1 3
S VST T T o0 Ve o)
p.198, 1.-3, 1.-2:
4r  —6y 4dr — by
rv , — —) rv , =
f(z,y) [_Gy Ar ]J f@y) —6 + 4y

p.198,1.11: [z, y) = (£1,0) D X, F/ME -1 %2t 5.0 — [(2,y) =
(=1,0), (0,-1) D%, R/MH -1 %2 & 5.

p.199, 1.2: IE L < &,

I L I 1 D W e
y V2 |1 y V2 |1
p.199, 1.3: IE L < I3,
;c 1 [1] z 11
=+ D ZH/ME -1, =+— DE Xy
y V2 |1 * y V2 |—1 *
KES &L 3.
_2x 2x
p.200, L1: TA|2y|) — XA |2y|J
2z 4~

p.200, #REME 6, (1), (D3) @ Ty =3 — 254 tay) — Tay =3 —
%933 + %$4

p.200, #RERE 6, (2), (D1): Tog =7 — 22 — 29 — 325) — Twg =
7 — 2371 — X9 — 3$3J

p.202,1-8: TZHZEMRL L 1 =6, co =1, A\=—T%153%.] > IZ
NERLL c1=8, ca=1, A\=—10 2158 5.

p.203, 1-12: [f, =2z — [f, =2\z}



